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State the possible rational zeros for the function. Then find all
rational zeros.

f(x)= x3+4x2+ Bx + 2
Zeros are the solutions to a polynomial.
Factors of 2: 1,2
Factors of 1: 1
To find all possible zeros, divide factors of 2 by factors of 1.

Possible zeros: 1, -1,2, -2

To find the zeros that are correct, you will need to use a

graphing calculator.

Correct zeros: -1, -2
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State the possible rational zeros for the function. Then find all
rational zeros.

f(x) = 3x3+9x% + 4x + 12

Zeros are the solutions to a polynomial.
Factors of 12: 1,2, 3,4,6,12
Factors of 3: 1,3

To find all possible zeros, divide factors of 12 by factors of 3.

|Poss|ble zeros: 1,2,3,4,6,12,1/3,2/3,%/3|(they can also be -)

To find the zeros that are correct, you will need to use a

graphing calculator.

Correct zeros:




